Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Max. Marks: 100

Module-1

50, will be treated as malpractice.

1 a. Define DBMS. Explain main charact;@“nstics of database appr (08 Marks)
b. Explain advantages of Databasg Management system. = (08 Marks)
e : he different types of user frleﬁdly interfaces. (04 Marks)
OR -
2 -3 es. Explain all the types: of attrlbutes along with notations.
(10 Marks)
b. Explam Cardlnahty ratios for binary relatlonshlp and write a ER diagram for movie database
= (10 Marks)
o : Module-2
% 3 a. Explamn relational model constraints. (06 Marks)
E b. Explam different types of update Upperatlons and sho “an example of a violation of the
; ; (08 Marks)
2 c. Define the following with example
% (1) Primary key
5 (i)  Foreignkey~ .~
E (iii) Superkey %
5 (iv)  Candidate key (06 Marks)
E
£ 4 a
=
g :
g (11) Project €
g (i) Intersection ”
é L™ (iv) Cartesiap“ppéduct S (10 Marks)
20 b
% ~Module-3
> 5 a. Explain insett, delete update, alter and drop statement in SQL. (10 Marks)
;; b. Consider the followmg schema for order database :
< SALESMAN (Salesman_Id, Name, City, Commision)
™

CUSTOMER (CustomerId, Cust_name, City, Grade, Salesman_id)
ORDERS (Ord_No, Purchase_amt, Ord_Date, Customer_id, Salesman id)
Write SQL queries to,
(i)  Find the name and numbers of all salesman who had more than due customer.

(i) List all. the salesman and indicates those who have and don’t have customer in

their cities (use union).
(iii) Create that view finds the salesman who has the customers with the higher order.
(10 Marks)
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Write a note on for folldwing :
(1) Assertion and action trigger.

(i)  Views in SQL. (10 Marks)
Explain stored procedures in SQL. (05 Marks)
Briefly explain JDBC classes. (05 Marks)

scheme design with

example. (08 Marks)
Explain Armstrong inference rule: (06 Marks)
i (06 Marks)

OR
Define normal form. Exﬁ“fam 2NF 3NF and BCNF- Wxtb suitable example. (10 Marks)
Consider 2 sets (. F and GK, F={A—>B,B->C, ACH>D} and
G={A—>B,B>C,A D} Are Fand G equwalent‘P (05 Marks)

Consider set of FD sbe E: B—->AD-> A‘“”” B — D}, find the minimal cover of E.

& < 05 Marks)
Module-5

Why concurrency control neede ﬁEXplam types of prob ms that may occur when 2 simple
translation run concurrently. ‘i 4 (10 Marks)
Explain why recovery needed anc (10 Marks)
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Briefly discuss Two- pha ' locking technique )or;ﬁconcurrency control. (08 Marks)
Explain ARIES recovery algorithm with, éﬁtample : (08 Marks)
Write a note on Deedlock preventlon protc%ol ‘ (04 Marks)
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